UNIT 3 PAGE 116 - QUESTION 9
Complete the crossword puzzle based on the sentences below.

‘I @ interest is the interest received | | The bank provides the convenience
from the savings and inferest collected of () so that we can postpone
each year. the payment of items purchased.

2 The loan that needs to be paid for 5 [ is the money used for a certain

~ buying a car is called L business that will give profit in the
future. For example, in purchasing

‘@ The savings that is not withdrawn on shares and becoming a cooperation
the first year will receive the (I member.

interest. B
_ 6 Purchasing via ([l does not get us

‘4 The money kept or deposited and can into debt.

be used when necessary is ([l -
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